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The question paper comprises of two Sections, A and B. You are to
attempt both the sections.

All questions are compulsory.

All questions of Section-A andall questions of Section-B are to be
attempted separately. '

Question numbers 1 to 3 in Section-A are one mark questions. These are
to be answered in one word or in one sentence.

Question numbers 4 to 6 in Sections-Aaretwo marks questions. These are
to be answered in about 30 words each.

Question numbers 7 to 18 in Section-A are three marks questions. These
are to be answered in about 50 words each.

Question numbers 19 to 24 in Section-A are five marks questions. These
are to be answered in about 70 words each.

Question numbers 25 to 33 in Section-B are multiple choice questions
based on practical skills. Each question is a one mark question. You are to
select one most appropriate response out of the four provided to you.
Question numbers 34 to 36 in Section-B are twomarks questions based on
practical skills,
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HWIM-31/SECTION-A
4 Wi 7 fafey faw® g sl wm F uw s W st s g
FIEHTE 9 TEW T F 7 o )
Name the process by which unicellular freshwatcr organisms and maost plant cells
tend to gain water,

w0 7 T € e T . wome @ v v e v a o Y FW FRW wiea
#ifem

Can a body have mass but no weight ? Give reason for your answer

Rb ARG R R R R LR ] T R R e e ———
EE Sl ?

Why friction doesn’t roll a ball backward if no force is pushing or pulling it ?
AT v wE wiEw ¢, T e w1 g i

“Evaporation is known as surface phenomenon™ Justify this statement.
mﬁwmmd@mwﬁmwmﬁmﬂiummaﬁgﬁ
IR %1 FHAC |

Cell size may range from a few micrometre to a metreSuppaort this statement with
the help of examples.

RS E R e R R R R R R TR R TR R S gu—
TR A2 H vEk g e g v = i
A body is accelerating at a constant rate of 10 ms™2 If the body starts from rest,
how much distance will it cover in 25 ? g 90 W i
feit ware o =t w9, arg B 1 9 v w0 9 s wwis ) A, s
W1 AT ¥ FGAE FAA: 21838 C, 21868 C 71 21968 C £, W 9 W FT WA W
w1 #t e 5w ¥ wivafia gni 2
With the help of a flow diagram, show the process of obtaining different gases
from air. If the boiling points of oxygenargon and nitrogen are 2 1838C, 21868C
and 21968C, which gas forms the liquid first as the air is cooled ?
6l % ZateTn F = fFn wen wemE £ & St ¥ wam # WA a2 zag
i % Tm fefeg
How does pressure help in liquefaction of gas? Name two liquefied gases used in
daily life.
(8 =M e SeE win o .

() T W e UE wew yEe F o i o faan a2

(i) 608C W fafifa wifeam seinmez = wyw faorm =t 5 aonm w1 35

faan =
(b) mW:&aiﬂmmfmm%ilémmmmﬁlmhfwm
T Y IEH geEE &) w02

(a) What would you observe when :
(1) amixture of iron filings and sulphur powder is heated strongly.
(i)  a saturated solution of sodium chloride prepared at 608C is
allowed to cool at room temperature.
(b) You are provided with a fine white coloured powder which is either sugar
or salt. How will you identity it without tasting it ?
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Write four types of the epithelial tissue and give its two functions. Wbu:dn) ( ! !!“
1 i el aw St fufe 5w w0 an s s e @ i 3 Svndidd
e fereent w4 e €2 Ihiaho)

Describe the structural features of cell membrane and cell wall, Why cell @
membrane is called a selectively permeable membrane ? '

12 (a) aﬂmamamsﬂménfmmmﬁﬁ?w&ﬁfh:ﬁfaf@qﬁmﬁm 3
AN W A & e s e v #
(b) 7= gferdl gro zié  aferdl ¥ m ferfa

(iy =g (i)  ArEnfe
(a) How are average speed and average velocity obtained?Mention the B

situation in which average velocity can be zero but not the speed.
(b)  Mention the quantities measured by the following devices in a car. l A
(i) Speedometer (i)  Odometer / 'y

13 Ve SR 1 A O ey A o 3
(a)  mifar =} fwm & w=or 30 v £
(b)  fa =1 Fada fawm & w0 5o g 21
(c) 0% UF OEE B

Give one example each of the type of motion when ;
(a) acceleration is in the direction of motion,

(b) acceleration is against the direction of motion.
(c) acceleration is uniform.

14 mﬁmmmwwmsiffag'A'ﬁ'B'mw%m&:mazgmssif 3
for C ook e 1 S w0 sivm e A st A w5 wiee -

A N
~ -

~7-6-5-4-3-2-101 2 3 4 5 6 7
B giced C A
(a) A#B (b))  AAC(BEM) F ey, wifww

A frog hops along a straight line path from point ‘A’ to point ‘B’ in 10 s and then
turns and hops to point ‘C’ in another 5 s. Calculate the average speed and
average velocity of the frog for the motion between :

- i $ I 3 i g i 4
{ ¥ ¥ T t

-7 =6-5-

4=3-2-10 1 2
4] Meters
(a) AtoB (b) A to C (through 1)

~
&Y S
;
c

.

15 gﬁtwmwsomtlW'M'wWaﬂwﬁ«ﬁaﬁmﬁm%l T M 3
TSI T 91 MR R 2 (g=9.8m/sY)

Your mass on earth is 50 kg. Planet ‘M’ has two times force of gravity of that on earth

What will be your mass and weight on planet ‘M‘? (g= 9.8m/s%)
Page3 of 12
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%1 W] W I HEE 0T P ue Q i A wven
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01 2 3 4

L(s
(a) 4sm':‘t=h'mﬁm(m)uﬂmﬁqﬁ (m) ® A sfar sm wifwg
(b) A Wit wE e A el €7 oft ol 0o
(c) 1P e Q =Tt WY iy v WwTT W
The speed-time graphs of two cars are represented by P and Q as shown
below

6 /P

+

5
4
vims=1) 3
2
|

7f“—‘—0

() ‘L-~o-—5-» —t>

01T 2 3 4

t(s)
(a) Find the difference in the distance travelled by the two cars (in m) after
s

(b) Do they ever move with the same speed 7 1f so when ?
(c) What type of motion car I’ and car Q are undergoing, ?

W A el wEt wen W W fR o v sel wen W osteawm & fe

wrETTye, W W, e g W vl savaw ga watn il e s o ol

s fererferr ofe wfron wem wed &1 % wof vl & wd frer o 3ai Te-Tam

fera sy €)1 3w ¥0 W o fem fis 39 wigfem smer e wfew

(i)  wefer s w g e §7

(y  fewest = hdt & s fifar, o o e e st e w )

(i) Tt 2 wreori ot apel wened fase et W ot S W W aw T wn
fom ufra fiwan

Sunita told her younger sister that cereals provide us carbohydrates for energy

requirement, pulses proteins, oil sceds provide us necessary fats while vegetables,

spices and fruits provide a range of vitamins and minerals. All of them together

are required for proper growth and maintenance, She stressed that she must take o

balanced diet,

(i) What is meant by balanced diet ?

(i) List two plants which provide oil seeds,

(1)) List any two reasons that motivated Sunita to tell these facts to her younger
sister

Paondnli?
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T 1w fefae | ae wee w5 fee 8 guw & fo s v 3w €2

Define hybridization. How is it useful for crop variety improvement ?

(@) =i e i fagoii § w8 @ s 6t

(b) Frefefen § | wmi vd i faoi w5 weee S
arg, Ao o1 e, s ¥ fRafem, e g, 7, we Ee

M/ Write any two differences between homogeneous and heterogeneous
mixtures

W{ Identify homogencous and heterogeneous mixtures among thefollowing -
Air, salt solution, kerosene in water, mudily water, soil, soda water.

ffemwE i s E? o s e fmom e € WiEE 9
eyl T fefed 1 & St # T 3T O e S 2 e fafed )
What is meant by Tyndalleffect? Which type of solutions show Tyndall

effect?  Write two important properties of these solutions. Write any two
examples of these solutions used in daily life,

59 fau Tu ya s W gu Sy

[ A, st

@ s | fefam A AT -
W by
| [ o]

| U sy Al e 5 am fafan )
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Complete the following flow chart :

Blood o e 0"| a | tissue
l |

Suspended components Fluid matrix
in fluid matrix
l b
[REC ] [wic] @]

Types

Name one more type of connective tissue

a

22 (a)  Ham F sfenfea Fifow it e S| aEE fafan)
(b) feuwm - are @, 5 kg 7oA % fIvg W &0 e T@ 7w Wi

() O#RA®TE (i) BACTH
an & A B
(my/s) ‘ - H
SR AN
O 2 4 6 8 10
— Y

(c) &wﬁaﬁmmﬁméﬁ:zkgmﬂmmﬁmﬁ
Sms™2H T A WA FA H 0 4 kg ZHWE AOh TR F 2 ms2# W A =@
FAH?

(a) Define momentum and mention its SI unit.

(b) From the velocity-time graph shown in figure for a body of mass 5 kg,find

the force acting on body from
(1) Oto A and (i) BtoC
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Velocity A B
(m/s). 40 d : :
e ot c
O 2 1 6 8 10
— time
(c) Which would require a greater force?Accelerating a 2 kg mass at 5ms™ or

A, |
ad kg mass at2 ms = ?

A Tl ww H D sl A A B % favm amafu & d fm-fim fafirdi F fefa-

T3 TE wefeE ¥
\, Y A/
% / / Vel
\ ¥ / S
& )( 4 Y4
AT & £ 4
\ / 4
/ \ /
/ /
£ y
Y [y Y
(i) (ii) (iii)

(0) Torm Teufa o 538 e =1 50 aum i 2
(by  frm feufa § F fawda femsd § nfmm €2
(¢) = (i) 9 7 A =1 3 v € @ o 2
(d) el Rufy/fafri da s g S em s d? st a =i

I'he position-time graphs of two objects A and B in three different situations for a

particular duration are as shown below -

N /3/
A / / /
\ / / / /
' A B { / /
c / c / ¢
S \ / S /d <} / /
% 2 7 €
2 7\ A / 4 /B
& // \, g/ / &l l
\ ¥ &Y, '
: v
\
/2
Time Time Time
(1) (i1) (i)
(a) In which situation the distance between them will remain same?
(b) In which situation they are moving in opposite directions?

(Q@" s the velocity of object A positive or negative in situation (ii)?
{d) Arve they crossing each other in any situation (s)? 1f so, why?
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24 (@) A H G F U T e st o ae fafe wer o faen A 5
U Fife :
(b)  ¥8 wE & fom smyfes fafudi 1 3o ifsm @
(a) Describe the different kinds of irrigation systems adopted in India to
supply water to the fields.
(b) Mention the modern initiatives undertaken in this respect,
HITM-9/SECTION - B
25 A 379 TR ST H AT F T W wErnen o | aw T s 1
farerm €3 = witer wen et 1 ww sifvwds & e A Hufim @) F
fr=ferfan & & 33 =@ w23 & wemm i .
(@) srEH faeras
(b)  HEEE =]
() AW

(d) TR EEEEEGE I
Sarita took the sample of arhar dal to laboratory from her house. She wants to test

for the presence of adulteration in it. She got confused in choosing reagent. Please
help her to choose the same from the following

. (@) lodine solution
(b) methylene Blue
() Safranin

(d) cone. hydrochloric acid

26 fsil o F1 = A - W e, Yo wE A 4w wsn s wm 1
WSS, IUC FUU | IHH =146 w1 G0 HE 971 IR GEF T e
faema %1 2- 3 9% 2wl aw form 773 § en wen 1 Sew e et
(a) MHEamH
(b) A I
(d) TP H

A student is provided with four white samples-wheat flour, chalk powder, talcum
powder and quicklime. He had to perform test for starch. He poured
2-3 drops of iodine solution to each sample and observed blue black colour in :

(a) wheat flour

(b) chalk powder

(c) talcum powder

(d)  quick lime
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@ F g0 a9 e WEE F g w5 o w3 F3vwe w A s g
?,fﬂ'ﬂ:

(@ (H¥ (b) (¥
{c) (ha=(v)H (dy  (unwH

The correct set ups of apparatus to heat the mixture of Iron filings and sulphur
powder is shown in fig :

(@ (D (b) ()
(©  (Dand(1IV) (d) (m

TR TH TR I UITA a9 Hew T3S F1 9 f2v ° o= mn fafas @ £ w34
fer % zyivepam ama o W Tmm w0 A e v € A @ 9 e o s e
T AT TS AW § 1 TH R/ s w7 e e 2

W vidg g G

g; % ’5:2 g;s ] g @ dter g
DL LS -
RASEY o w fasm

(a) =i fgo o B

(b)  fammid fagor @7 &1

() = wERnE Afrs €

(J) =797 HEEEE AYT G 0N T T

When we mix iron filings and sulphur powder thoroughly and spread the mixture
evenly on a watch glass as shown in diagram, grey and yellow coloured particles

Page Yol 12

Page 9 of 12


http://www.pioneermathematics.com/

Submitted by Visitors

can be seen distinctly spreaded. What do you conclude from this obserysiion

$-15-SC1-13-QP

RETRRE LT
-\‘,\), S':; S 5{5Sf2 Mixture of iron
RE S 22>
(a) Homogeneous mixture 1s tormed.
(b) l'lclcn%vncvus mixture is formed,
(c) lron sulphide compound is formed
(d) Mixture of Iron sulphide and Iron is formed.
29 13 fgu mu m HE F STl % WA H X, Y 701 Z ) weei
(a)

(b) wTETEl BEET
(¢) FETe! vEst

(d) grETE

Lt Al

In the following setup of heating apparatus identify X, Yand Z

(t‘) Test tube
(b~ Test tube holder
(c) Test tube holder
(h) Test tube

Page 10 of 12

Y
burner
Burner
\Fest tube
Test tube holder

Z
Test tube Holder
Test tube
\BhOrner
Burner

Page 10 of 12


http://www.pioneermathematics.com/

Submitted by Visitors

5-15-5C1-13-QP

30 o W1 PR s s g % fern oara ) feeed e o 1
(@) wr W ol W e wm A
(b =T e sire vm A
(©) = foms 3
() AT T w)
Lo prepare a temporary mount of an onton peel, the peel is taken oot from

(n) the outer part of onjon leaf
(h) the inner part of onton leal,
(¢) the drey cover of onlon
() fine shice of slicing, the leat of onion
31 A1 o, e i W e e W W fo @ ond e i w) e Tem v I
wE R

.k '/!'\\ /) / L) "' \ ol
e 4 r?‘j l",'.-(;*: ~ AR )

‘.. ¥ ¢

V-, )
- ey G
./ AN & ‘1,)!' ;&\(A- :
N X
'\ m 1ty i
(A) (B) © (D)
(a) o w faeef e wifer e Y
(b) W wfE Tr=R1esn THATERIE Ay w1 foree
(¢)  frwmwm el T v W foeell  Eherenya
(d)  PwOCwEH! o W fgeelt Sommm we iy

Four slides were observed under microscope for spot test as shown below, The
correctidentification of the four slides is -

J
,1"/“L\ /7

(A \h 1) i
(A) () (©) (D)

() Onlon peel Cheekeell sclerenchyma parenchyama

(b)  Checkeell Parenchyma  sclerenchyma Onion peel

(c) Parenchyma Checkeell Onion peel  sclerenchyma

() sclerenchyma Onion peel  parenchyma  Cheekeell
32 UG S weres T w i g !

(o) T (by  #ren (¢) w1 (d) o™

Ihe colour of the pure ammonium chloride powder is

() white (b) blue (c) preen (d) red
Page 11 0f 12
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33 F1E A W a9 w8 o 3W W 1
(a)  Wafera = w@ 81 (b) g W T ¥
(¢)  HIE = TRl T B (d) =V EE T e
A body is accelerated if
(a) balanced force acts on it (b) unbalanced force acts on it
(¢) no force acts on 1t (d) frictional force acts on it
34 W AEEE S WMET TS ® WAV we o e T o fe e e 2

i T fee w3 W WE ¥R A g w1 oAm fafaw 99 gn 9@ o faem
w1 M fEfE)

A mixture of sand, chalk powder and common salt is dissolved in water and then
filtered. Name the substance left on filter paper. Name the substance in the filtrate

"~

35 49 feu Wi @ A fet afeaga da wFER TE 0 e wifE
(i) TF a4 AETEn I3 TG (i) A TA FA M AW
Mention the temperature of the following in degree Celsius and Kelvin Scale :
(i) lce and we cold water. (i) Boiling water and steam.
36 wimeEn § fEafae Zm smeiua 9w wlawed 3@ w1 & uw gam § afetem
fafu % sm g s fafan
Write four main steps of the method involved in an experiment on determining
the percentage of water absorbed by raisins in the laboratory
~olo-

"
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